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HE — H
Attempt all the twenty questions. Each question carries 2 marks. Answer should

not exceed 15 words.
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Write the formula of Return on Equity Ratio.

quen Oif W 9@ (ROE) 39U &1 g3 fwigu

What is Super Quick Ratio ?
I AT AU wq TP

3

What is Internal Rate of Return (IRR) ?
YO B HMial® & (IRR) @91 g & ?
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4 What is Risk free rate of return under Capital Assets Pricing Model (CAPM}
tﬁrﬁmﬁwaﬁwﬁw(cmméﬁm@ﬁﬁgﬂwmzﬁim'&m% T

5 What is product dropping ?
IO i W oy ?

6 Explain Reverse Engineering.
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7 What is difference hetween selling and marketing,

g ud Rqum F e o ¥ 7

$  What s Time Value of Money 7
T O W R T g 7

i - . . .
i 9 Explain six sigma.

foom Reor awsm=R )
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10  Whal is stunt Advertising ?

Fyer Tosmo w®T R 7

11 Define Branding
T @ O wi
12 What is market segmentation ?
TR WO F OB T 7
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13 How a marketing firm can reduce cognitive dissonance of its consumers ?

R W svien @ we fete 5w a amd 2 ?
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14 Give an example where Discriminating Price Policy is being used effectively in India.

Wﬁ%w%%w%mﬁmﬁ%mwméﬁqr

15 Write the formula to calculate the Labour Turnover Ratio.
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16  What do you mean by Re-order point ?
79 oRy fg (ROP) & oy #01 §Awid & 7
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17 What do mean by siress interview ?

wfoad (stress) WieneR fHd wed € 7
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1§ What is Push Strategy ?
v FECEl (Push Strategy) T % ?.
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I'E 19 What is the purpose of employee induction 2

i whﬁaﬁmﬂhaﬁ%%amabuﬁﬁ%?

FEAE e R LT e e i b

20 Define collective bargaining ?

Wﬁ%iﬁmﬁa%m%mTﬁhy
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PART - B Marks : 60
I —q IF : 60

Note : Attempt all the twelve questions, Each question carries 5 marks. Answer should
not exceed S0 words. : '

e o TuE 92 UG ¥ oox AR ude 9y % u ofe P ¥ sE we = @
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21 Explain the concept of operating leverage.

oo et b S T A
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22 A company has debt of Rs. 20 lakhs and Equity of Rs. 30 iakhs in its capital structure.
If the cost of Debt is 10% and that of the Equity is 15% then determine the weighted .
Average Cost of the Capital for the company. _ S
U HEE B o weE | 20 WTE BUT F FOT YN T30 WRE T @B qAA Yol &1
afy s ol @ W 10% T WEE G W6t Wen 15% R < o & fg gof @ oftea
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23 Make a PERT chart of a project consisting of th

Activities (ftramd)
1-2
1-5
2-3
3-4
4-5
3-5

e following activities

wuﬁﬁw#ﬁw&%ﬁweﬁmmmm&m:
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3 24 Explairi the process of quality control.
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25 Explain economic order quantity and its underlying assumptions.

26 What is the skim the cream pricing ?

AWE SAT Al e N @ E 7
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27 Discuss the functions of DGS and D organization.

i)GSaﬁTDW}w%WWﬁﬁwa&ﬁm

28 Discuss the factors affecting the ‘promotion mix decistons.

w%ﬁwﬁvﬁﬁumﬁamﬁ'aﬁﬂmﬁmmhﬁﬁﬁql
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29  What is product-life cycle ? How does it affect the pricing of a product ?

i SfEd wmE R T ? U9 e Ye Soe g A B THINT B €

What is the rationale for workers' participation in management 7

30
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31  Discuss the drawbacks of an 'open door policy.

gwm:i’rﬁr a?rw&m’rﬁf%ﬁamﬁﬁﬁr

32 Discuss the concept of Human Resource Development

Wwwﬁmﬁwaﬁfaﬁamaﬁﬁm
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PART - C Marks : 10(
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Note : Attempt any 5 questions. Each question carries _20 marks. Answer should not exceec
260 words,
Fe : aﬂét‘x’rqusﬁ*ﬁsaﬁ'{é’rﬁﬁlmusﬁﬁsﬁmwmﬁa‘iﬁﬂ%twm

sl ¥ offter 20w =

33 Discuss why Net Present Value (NPV) technique of evaluating a project is better thar
Internal Rate of Return (IRR) techniques.
T YT ¥ e % fwe g adham e (NPY) Tef, ot T X (IRR
H@'ﬁ‘f@raﬁréﬁ'{ﬁ?ﬁ%?fﬁﬁwaﬁﬁqi

3R-1] 16 [Contd..
1T




R e A Ny g

Dol e LI, ST

[Contd...

(AR o

Tl oA 4



34 The sales turnover and profit during two period were as foliows
period | Sales Rs 20 lakh Profit Rs. 2 lakh
Period 2 Sales Rs. 30 lakb Profit  Rs. 4 lakh
You are required to calculate ° :

(iy P/V ratio '
(ii) The sales required to earn a profit of Rs. 5 lakh
(iii) The profit when sales are Rs. 10 lakh

ﬁmwaﬁwﬁw%ﬁmﬁméﬁmﬁm%:
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36 Discuss the role of price and non-price factors in marketing.
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37 "There is only one valid business purpose - Create a Happy Customer". In the light of

this statement, discuss the nature and purpose of the marketing.
T SRy & Um & Hr I g wgslmaﬂqmmr’@éﬂﬁ
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38 Discuss the emerging issues in marketing in Indian context.
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30 Pxamine the methads of wage fixaiion Descrine the components of indusirial payv

struciure.
weredy Trutor @ faber o AN T R STEE SO Fit

{Contc

32-11] 28
LR A



32-11)

29 [Contd...

[T



SPACE FOR ROUGH WORK /6 &® & fa &

30 ' ~ [Contd...
0L, N0 0 B

Fa




SPACE FOR ROUGH WORK /1% %/ ¥ firu o

i | {Contd...
(1490 ) IO

15/ 32-I1



SPACE FOR ROUGH WORK /TS @ & fau 5wE

3211}

32

415

A R



